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1. Which equation refresents the line whose slope is 2 and

whose y- 1ntercept\/ _ m X + \Q
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2. What is the slope of the line whose equation is

3. What is the slope of the line whose equation is
3x -4y - lﬁ 0?
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4. What is the slope of the line passing through the points
A and B, as shown on the graph below?
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5. What is the slopé{'gf the given line? = w} 6. What is the slope of the given line?
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7. Graph y 3
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8. Graph x = -4
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9. Write the equation for the line shown in the accompanying graph. v
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Graph each of the following equations.
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Solve graphically each of the following equations

x=4

1. Find the area of the region bounded by the following equations. Label all lines!
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22.
4x - 6y =12
2x +2y =6
U =l
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Solve algebraically each of the following equations

. 'What point is the intersection of the graphs of the lines
"‘é“ X+ j= 37?
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8. Solve algebraically usi ddition method 2
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9. Solve algebraically using the substitution method and check:
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